i City 4500

Légazpi City apltalp) Albay, Philippines

W e R Pk
A 2ELON LS ERTiecs thal cann

BIDS AND AWARDS COMMITTEE
July 22, 2025

SUPPLEMENTAL BID BULLETIN (SBB) NO. 04
Series of 2025

TO ALL PROSPECTIVE BIDDERS FOR THE FOLLOWING PROJECTS:

soglr:CE APPROVED BIDDING
BUDGET FOR
Lot PROJECT FUND THE CONTRACT DOCS FEE
(ABC) Sdiindl

1 Purchase of Conductors for

Operations and Maintenance RFSC 15,690,970.00 25,000.00
of Distribution Lines

2 Outsourcing of Manpower
Services for Massive Change | General 3,826,000.00 5,000.00
Meter Activity for Average Fund

Billed Accounts

3 Purchase of kWh Meters for
Residential Accounts 24,000,000.00 25,000.00
4 Purchase of Line Hardware RFSC
for Buffer Stock for 19,601,670.00 25,000.00
Operations (Contingency)
5 Purchase of Line Hardware
and Materials as Buffer Buffer 8,964,919.50 10,000.00
Stock for Emergency/ Fund
Calamities

This SBB No. 04 dated July 21, 2025, for the aforementioned projects is being
issued in response to the queries raised during the Pre-bid Conference held last
July 16, 2025, as well as modify certain items of the Bidding Documents that
shall form as an integral part of the Bidding Documents.

1. Change of schedule for the following bidding activities:

FROM TO
___f\ETi[Y_!:_TY DATE TIME DATE TIME
) Wednesday,
Deadline of Monday "
4 : July 30 12:59 PM
Submission of Bids | July 28, 2025 | 12729 PM A
Monday Wednesday,
i i o . 1:00 PM
Bid Opening July 28, 2025 1:00 PM leﬂ(;lz?éo'
*Late submissions shall not be accepted
g:?&-s :mis;ig 53?:53 = :::::"’“g%’,’::ﬂ_‘::: f www.facebook.com/albayelectric @ alecoinc.com.ph



ALBAY ELEETRIC COBPERATIVE, INC.

W. Vinzon S gaz]pl City 4500
Legazpi Cit 1tal) Albay Philippines

Lk

4 Ak Bl ne AL
IR HELYIECS TN

2. General Amendments/Clarifications:

PARTICULARS/CONCERNS ‘ AMENDMENTS/ CLARIFICATIONS

a. Lot 3 - Delivery Schedule a. 15 days upon receipt of Purchase Order
(PO) to be completed within 45 days

Initial delivery - 3,000 units
2"d delivery - best offer
3 delivery - completion of all 15,000

units
b. Modification on the Approved b. From Php 8,964,919 to 8,964,679.50
Budget for the Contract (ABC)
for Lot 5
c. Modification/Additional on the C. Lot2
Checklist of Requirements From 3 years to 2 years

Lots 4 and 5 - Additional:
Manufacturer’s Certifcate (Original)

3. Revised Technical Specifications for Lots 4 and 5 (refer to Annex “A")

Issued this 22" day of July, 2025 at ALECO Main Office, W. Vinzon Street, Albay District,
Legazpi City.

By the Authority of the Bids and Awards Committee:

~

HAYSLI I. LUCILO
BAC Chairman

Approved

WILF 0. BUCSIT
Acting General Manager

- 0908-6773-393 (SMART) =g~ aleco.cares@gmail.com P
0915-9953-455 (GLOBE) prteiping Svalioo.com f www.facebook.com/albayelectric @ alecoinc.com.ph



LOT 4
SECTION III - Technical Specifications

Purchase of Line Hardware for Buffer Stock for Operations {Contingency)

DESCRIPTION/SPECIFICATION ary uom
ANCHOR, EXPANDING, 8-WAY, GALVANIZED 120 |Piece
ARRESTER, LIGHTNING, STATION TYPE, 10-12KV, POLYMER 300  |Piece
ATTACHMENT, GUY, MALLEABLE TYPE WITH 11/16" HOLE DIAMETER 300 |Plece
BOLT, CARRIAGE 3/8" X 4-1/2", HOT DIP GALVANIZED 250  |Piece
BOLT, DOUBLE ARMING 3/4" X 22", HOT DIP GALVANIZED 200 |Piece
BOLT, DOUBLE ARMING 5/8" X 20", HOT DIP GALVANIZED 650 Piece
BOLT, DOUBLE ARMING 5/8" X 22", HOT DIP GALVANIZED 500  |Plece
BOLT, DOUBLE ARMING 5/8" X 24", HOT DIP GALVANIZED 500  |Pieca
BOLT, MACHINE 1/2" X 06", HOT £P GALVANIZED 500 |Plece
BOLT, MACHINE 1/2" X 08", HOT DIP GALVANIZED 600  |Piece
BOLT, MACHINE 1/2" X 10", HOT DIP GALVANIZED 500  |Piece
BOLT, MACKINE 5/8" X 14", HOT DIP GALVANIZED 500  |Piece
BOLT, OVAL EYE 5/8" X 09°, HOT DIP GALVANIZED, FORGED 300  |Piece
BOLT, OVAL EYE 5/8" X 12", KOT DIP GALVANIZED, FORGED 00 |Piece
BOLT, OVAL EYE 5/8" X 14", HOT DIP GALVANIZED, FORGED ano Piece
BOLT, SINGLE UPSET 5/8" X 08", HOT DIP GALVANIZED, FORGED 200  |Piece
BOLT, SINGLE PSET 5/8" X 12", HOT DIP GALVANIZED, FORGED 500  |Piece
BOLT, SINGLE UPSET 5/8" X 14", HOT DIP GALVANIZED, FORGED 200  |Piece
BOLT, THIMBLE EYE, 5/8" X 12", Straight Type, HOG, Forged 200 Piece
BOLT, THIMBLE EYE, 5/8" X 14", Straight Type, HOG, Forged 200  |Piece
BRACE, CROSSARM, 60" - 18" DROP 300 |Piece
BRACE, SIDEARM, DIAGOMNAL, 7, STEEL, HQT DIP GALVANIZED 300 Place
CLAMP, LOOP DEADEND, #4/0 ACSR 300 |Piece
CLAMP, LODP DEADEND, #6 TO #2/0 ACSR 500 |Piece
CLAMP, POLE MOUNTING ADAPTER (5-6), TYPE RL 60  |Piece
CLAMP, STIRRUP, #1/0 - #397.5 ACSR 200 |Piece
CLAMP, STRAIN, DEADEND, GUN-TYPE, #2/0 ACSR, 2U-BOLTS, W/O SOCKET EYE 200 |plece
CLAMP, STRAIN, DEADEND, GUN-TYPE, #336.4 MCM, 4U-BOLTS, W/Q SOCKET EYE 300 |Plece
CLAMP, STRAIN, DEADEND, GUN-TYPE, #4/0 ACSR, 2U-BOLYS, W/O SOCKET EYE 300  |Piece
[CLUSTER METERSHED / CLUSTER BOX,(5 KWH METER CAPACITYL, G, GAUGE #16, NO 000 st
WELDED PARTS, HORIZONTAL ’
CONDUCTOR, BARE, ACSR #4 AWG 3,000 Meter
CONNECTOR, COMPRESSION, YHD 250, RUN #1 - #4/0 -FAP 6 - #2 3,000 |Piece
CONNECTOR, COMPRESSION, YHD-300, RUN #1/0-#2/0 - TAP #1/0-#2/0 2500 |Piece
CONNECTOR, COMPRESSION, YHD-350, RUN #3/0-#4/0 - TAP #1-#2/0 2,000 |Plece
CONNECTOR, COMPRESSION, YHD-400, RUN §2/0-84/0 - TAP #2/0-#4/0 3,000 |Piece
CONNECTOR, COMPRESSION, YHD 150, RUN #3 - #1/0 -TAP #6 - #2 1,000 |Piece
CONNECTOR, PARALLEL GROOVE, 3 BOLTS, #2/0 TO #336.4 MCM 500 |Piece
CONNECTOR, WEDGE TYPE, #336 - #336 MCM 00 |Piece
CONNECTOR, WEDGE TYPE, TERMINAL LOG, 4 HOLE, #336 - #336 MCM 100 Piece
CROSSARM, STEEL, 3" X 4" X 10°, 3 MM, HOT DIP GALVANIZED S00 Piece
FUSE CUTOUT, 100A, 15KV, PORCELAIN 2850 |unit
FUSE CUTQUT, 200A, 15KV, PORCELAIN 50 Unit
FUSE LiNK, 100, TYPE K, BOTTOM HEAD 50 Piece
FUSE LiNK, 10A, TYPE K, BOTTOM HEAD 1,500 Piace
FUSE LINK, 124, TYPE K, BOTTGM HEAD 106 |Piece
FUSE LINK, 140A, TYPE K, BOTTOM HEAD 50 Piece
FUSE LINK, 15A, TYPE K, BOTTOM HEAD 150 |Piece
FUSE LINK, 204, TYPE K, BOTTOM HEAD 150 Piece
FUSE LINK, 254, TYPE K, BOTTOM HEAD 150 Piece
FUSE LINK, 2A, TYPE K, BOTTOM HEAD 1,000  |Piece
FUSE LINK, 304, TYPE K, BOTTOM HEAD 150  |Piece
FUSE LINK, 3A, TYPE K, BOTTOM HEAD 2,000 Piece
FUSE LINK, 404, TYPE K, BOTTOM HEAD 150 [Piece
FUSE LINK, 5304, TYPE K, BOTTOM HEAD 300 Piece
FUSE LINK, 54, TYPE K, BOTTOM HEAD 1,500  [Piece
FLISE LINK, 654, TYPE K, BOTTQM HEAD 200 Piece
FUSE LINK, 64, TYPE K, BOTTOM HEAD 300 |Piece
INSULATOR, PIN TYPE, PORCELAIN, ANSE, CLASS 55-5 800  |Piece
INSULATOR, PIN TYPE, PORCELAIN, ANS!, CLASS 56-2 100  |Plece
INSULATOR, PIN TYPE, PORCELAIN, ANSI, CLASS 56-1 - 100 |Piece
INSULATOR, SPOOL, PORCELAIN, 3", ANSI, CLASS 53-4 1,800 |Piece
INSLILATOR, SLSPENSION, PORCELAIN, 67, ANSI, CLASS 52-1 1,800 |Piece
METER BASE, CL-200, 7-JAWS, FM16, SOCKET TYPE, RECTANGULAR 50 Unit
NUT, LOCK, SQUARE, MF TYPE, CURVED, 5/8" 1,000  |Piece
NUT, OVAL EYE, 5/8”, CONVENTIONAL 200 |Piece
PIN, CROSSARM, CLAMPF TYPE, 1" THREAD DIA. HOT DIF GALVANIZED 300 Piece
PIN, CROSSARM, STEEL, 5/8” X 10-3/4", HOT DIP GALVANIZED 200 |ptece
PIN, CROSSARM, STEEL, 5/8" X 13-3/4", HOT DIP GALVANIZED 200 Piece
PIN, POLE TOP, CHANNEL, 1" THREAD, 20" LONG, HOT DIP GALVANIZED 300 |Piece
ROD, ANCHOR, THREADED, SINGLE EYE, 5/8" X 07", HOT DIP GALVANIZED, FORGED 00 |Plece
SHACKLE, ANCHOR, 5/8", FORGED STEEL, HOT DIP GALVANIZED 200 Piece
SPLICE, AUTOMATIC, CONDUCTOR, #3/0 ACSR, SHORT JAW 300 |Piece
SPLICE, AUTOMATIC, CONDUCTOR, #4/0 ACSR, LONG JAW 0 |Piece
SPLICE, AUTOMATIC, CONDUCTOR, 336.4 MCM, LONG JAW (18/1 ACSR) 300 {Piets
WASHER, ROUND, 1-3/8” DIAMETER W/ 5/16" DIA. HOLE 3000 |Plece
WASHER, SQUARE, FLAT, 2-1/4" X 2-1/4" X 3/16", 13/16"HOLE 3,000 Piace
WIRE, GROUND, ALUMINEUM ALLOY, #4 AWG, 3-5TRAND 3,600 Feet
WHRE, GROUND, GALVANIZED, 3-STRAND, 5/16" DIAMETER 2,000 |Feet
WIRE, GUY, STEEL, 3/8", 7 STRAND 6,000 Feet

ANNEX "A"



LOTS ANNEX "A"
SECTION III ~ Technical Specifications
Purchase of Line Hardware and Materials as Buffer Stock for Emergency/Calamities
STATE OF
SPECIFICATIONS Ty uom COMPLIANCE REMARKS

ATTACHMENT, GUY, MALLEABLE TYPE WITH 11/16" HOLE DIAMETER 50 Piece
BOLT, CARRIAGE 3/8" X 4-1/2", HOT DIP GALVANIZED 40 Piece
BOLT, DOUBLE ARMING 5/8" X 24", HOT DIP GALVANIZED 60 Piece
BOLT, MACHINE 1/2" X 06", HOT DIP GALVANIZED 40 Piece
BOLT, MACHLINE 1/2" X 10", HOT DIP GALVANIZED 70 Piece
BOLT, MACHINE 5/8" X 08", HOT DIP GALVANIZED 20 Piece
BOLT, MACHINE 5/8" X 10", HOT DIP GALVANIZED 129 Piece
BOLT, MACHINE 5/8" X 12", HOT DIP GALVANIZED 20 Plece
BOLT, MACHINE 5/8" X 14", HOT DIP GALVANIZED 20 Piece
BOLT, OVAL EYE 5/8" X 10", HOT DIP GALVANIZED, FORGED 76 Piece
BOLT, OVAL EYE 5/8” % 12", HOT DIP GALVANIZED, FORGED 100 Piete
BOLT, OVAL EYE 5/8" X 18", HOT DIP GALVANIZED, FORGED 60 Piece
BRACE, CROSSARM, 50" - 18" DROP 20 Piece
BRACE, CROSSARM, STEEL, 28", STEEL HOT DIP GALVANIZED an Piece
BRACKET, CLEVIS DEAD-END WITHOUT SPQQL 29 Piece
CLAMP, ANCHOR ROD BONDING, SINGLE EYE, 5/8" 50 Piece
CLAMP, ANCHOR ROD BONDING, TWIN EYE, 3/4” 20 Piece
CLAMP, GLIY, STRAIGHT, 3 BOLT, HEAVY DUTY STEEL, HOT DIP GALVANIZED 180 Piece
CLAMP, HOT LINE, #3/0 - #336.40 ACSR MAIN TO #3/0 - #336.40 30 Piece
CLEVIS, SECONDARY, SWINGING, W/0 SPOOL, HOT DIP GALVANIZED 116 Piece
CONDUCTOR, DUPLEX, #1/0 AWG 6/1 10,000 Meter
CONDUCTOR, DUPLEX, #2/0, AWG 6/1 5,000 Meter
CONDUCTOR, DUPLEX, #& AWG 6/1 103,000 Meter
CONDUCTOR, INSULATED, ACSR, #2/0, AWG 6/1 3,000 Meter
CONNECTOR, COMPRESSION, YHD 250, RUN #1 - #4/0 -TAP #6 - #2 170 Piece
CONNECTOR, COMPRESSION, YRD-400, RUN #2/0-#4/0 - TAP #2/0-#4/0 30 Piece
CONNECTOR, GROUND ROD {CLAMP) STEEL ROD, 5/8" 30 Piece
CONNECTOR, WEDGE TYPE, #336 - 4336 MCM 30 Piece
FUSE CUTOUT, 10DA, 15KV, PORCELAIN 50 Unit
FUSE CUTOUT, 2004, 15KV, PORCELAIN 20 Unit
HOOK, GUY, 1-3/4" X 3/3" X 4", 11/16"HOLE 60 Piece
INSLILATOR, PIN TYPE, PORCELAIN, ANSI, CLASS 55-5 70 Piece
INSULATOR, SPOOL, PORCELAIN, 1-3/4", ANSI, CLASS 53-2 10 Piece
INSULATOR, SPOOL, PORCELAIN, 3", ANSI, CLASS 53-4 135 Pisce
INSULATOR, SUSPENSION, CLEVIS TYPE, PORCELAIN 6" DIA,, CLASS 52-1 240 Piece
NUT, LOCK, SQUARE, MF TYPE, CURVED, 3/8" 50 Piece
NUT, LOCK, SQUARE, MF TYPE, CURVED, 5/8" 526 Piece
NUT, OVAL EYE, 5/8", CONVENTIONAL 139 Piece
PIN, CROSSARM, STEEL, 5/8" X 14", 1-3/3"DIA. THREAD 40 Piece
PIN, POLE TOP, CHANNEL, 1" THREAD, 1 3/8" X 25" LONG, HOT DIP GALVANIZED 30 Piece
ROD, ANCHOR, THREADED, SINGLE EYE, 5/8" X Q7", HOT DIP GALVANIZED, FORGED 79 Piece
ROD, ARMOR, PREFORMED, #2/0 ACSR SINGLE SUPPORT (10 PCS/SETI-BLUE i9 Set
ROD, ARMOR, PREFORMED, #336.4 MCM ACSR DOUBLE SUPPORT {12 PCS/SET) 30 Set
ROD, ARMOR, PREFORMED, #336.4 MCM ACSR SINGLE SUPPORT (12 PCS/SETH-GREEN 10 Set
ROD, ARMOR, PREFORMED, #4/0 ACSR SINGLE SUPPORT (11 PCS/SET}-RED 10 Set
ROD, GROUND, STEEL, GALVANIZED, 5/8" X 10 30 Piece
ROD, TAPPING, PREFORMED, #336.4 ACSR 30 Set
SHACKLE, ANCHOR, 5/8", FORGED STEEL, HOT DIP GALVANIZED 50 Piece
SPACER, PIPE, 3/4" X 1-1/2", HOT DIP GALVANIZED 20 Piece
WASHER, ROUND, 1-3/8" DIAMETER W/ 9/16" DIA. HOLE 50 Piece
WASHER, SQUARE, CURVED, 3" X 3" X 5/16" W/ 11/16" DIA, HOLE 60 Piece
WASHER, SQUARE, FLAT, 2-1/4" X 2-1/4" X 3/16", 13/16"HOLE 435 Piece
WASHER, SQUARE, FLAT, 4" X 4" X 1/2", 7/8"HOLE 78 Piece
WIRE, GROUND, ALUMINUM ALLOY, #3 AWG, 3-STRAND 1,550 Feet
WIRE, GUY, STEEL, 3/8", 7 STRAND 4,500 Feet
WIRE, TAPE, ARMOR, ALUMINUM ALLOY, 0.5 X 0.3" (FEET} 136 Feet
WIRE, TIE, ALUMINUM ALLOY, SOFT, #4 AWG (FEET) 756 Feet
WIRE, TIE, INSULATED, S50FT, #& AWG 4D Feet
CLAMP, LOOP DEADEND, #2/0 ACSR 72 Piece
POLE, STEEL, 30°, BARE-4.0 MM, 86 MICRON, 750 KGS. (MINIMUM LOAD BREAK) 18 Piece
ANCHOR, LOG, CONCRETE, 8" X a" 50 Piece
CROSSARM, STEEL, 3" X 4" X &, 3 MM, HOT DIP GALVANIZED 40 Piece
POLE, STEEL, 40", BARE-4.0 MM, 86 MICRON, B50 KGS. {MINIMLUIM LOAD BREAK) 20 Piece
POLE, STEEL, 457, 4.0 MM, 86 MIRCON, 850KGS (MINIMUM LOAD BREAK) i Piece
CLAMP, DEAD-END STRAIN, #336.4 ACSR 116 Piece




